Math 2150 9/9/24

$$N(y) \cdot y' = M(x)$$

function
with no
x's

$$N(y) \cdot \frac{dy}{dx} = M(x)$$

Ex:
$$y^{2} \frac{dy}{dx} = x-5$$

N(y) M(x) Separable first order
N(y) M(x) N(y)

Ex:
$$y' = \frac{x^2}{y}$$

Multiply by y to get
 $y \cdot y' = x^2$
 $y \cdot y' = x^2$
 $M(y)$
 $N(x)$
 $Separable
first order
 $N(n-linear$$

How to solve a separable ODE

Informal Way Formal way $N(y) \cdot \frac{dy}{dx} = M(x)$ $N(y) \cdot y' = M(x)$ N(y) dy = M(x) dx $N(y(x)) \cdot y'(x) = M(x)$ [informal differentul] form notation $N(y(x)) \cdot y'(x) dx$ $=\int M(x)dx$ $\int N(y) dy = \int M(x) dx$ u = y(x)e du = y'(x) dxNow integrate $\int N(u) du = \int M(x) dx$ Now integrate. Remember u=y.

Ex: Find a solution to

$$y^{2} \frac{dy}{dx} = x - 5$$
Also, on what interval does our
solution exist?
We have:

$$y^{2} \frac{dy}{dx} = x - 5$$

$$y^{2} \frac{dy}{dx} = (x - 5) \frac{dx}{dx}$$

$$\int y^{2} \frac{dy}{dy} = \int (x - 5) \frac{dx}{dx}$$

$$\frac{y^{3}}{3} = \frac{x^{2}}{2} - 5x + C$$

$$y^{3} = \frac{3}{2} x^{2} - 15x + D \quad \text{where} \\ D = 3C$$

$$y = \left(\frac{3}{2}x^{2} - 15x + D\right)^{V_{3}}$$

Thus, a solution to $y^2 \frac{dy}{dx} = x - 5$ Is given by $y = \left(\frac{3}{2}x^2 - 15x + D\right)^{1/3}$ where Dis any constant. This solution works on all x's are of to plug into the solution $\mathbb{T} = \left(-\infty, \infty \right) \quad \clubsuit$

Ex: Find a solution to Ineac egn. $\frac{dy}{dx} + 2xy = D \quad 4$ we solved On what interval I does *i*+ last the solution exist? time With Me have different method $\frac{dy}{dx} + 2xy = 0$ $\frac{dy}{dx} = -ZXY$ $\frac{1}{y}dy = -2xdx$ $\int \frac{1}{2} dy = -\int 2x dx$ $|n|y| = -x^2 + C_1$

$$e^{\ln|y|} = e^{-x^{2}+C_{1}} e^{\ln(x)} = t$$

$$|y| = e^{-x^{2}} e^{C_{1}} e^{A+B} = e^{A}e^{B}$$

$$|y| = (2e^{-x^{2}} \text{ where } (2 = e^{C_{1}})$$

$$y = t(2e^{-x^{2}} \text{ where } C \text{ is a constant}$$

$$(C = tC_{2})$$
So, $y = Ce^{-x^{2}} \text{ which } e^{x} \text{ is ts}$
on $T = (-\infty, \infty)$

$$any \times is ok$$

$$b p \log into$$

$$y = Ce^{-x^{2}}$$

$$\frac{dy}{dx} + 2xy = 0.$$
This is the same answer as last time in Topic 3.

Topic 5- First order exact
equations
Suppose you have a first-order
equation of the form:

$$M(x,y) + N(x,y) \cdot y' = 0$$

expressions with
numbers, xs, and ys.
Further suppose there exists a
function $f(x,y)$ where
 $\frac{\partial f}{\partial x} = M(x,y)$ and $\frac{\partial f}{\partial y} = N(x,y)$
Then,
 $M(x,y) + N(x,y) \cdot y' = 0$
becomes
 $\frac{\partial f}{\partial x} + \frac{\partial f}{\partial y} \cdot \frac{\partial y}{\partial x} = 0$
 $\frac{\partial F(x,y)}{f(x,y)}$ is a

This is equivalent to

$$\frac{df}{dx} = 0$$
So, for example
the family of
curves given by

$$f(x,y) = c$$
Where c is a
constant will
satisfy $\frac{df}{dx} = 0$.
This is equivalent to

$$\frac{df}{dx} = \frac{\partial f}{\partial x} \cdot \frac{d}{dx}(x)$$

$$\frac{df}{dx} = \frac{\partial f}{\partial x} \cdot \frac{d}{dx}(x)$$

$$\frac{\partial f}{\partial x} \cdot \frac{d}{dx}(y)$$

$$= \frac{\partial f}{\partial y} \cdot \frac{d}{dx}(y)$$

$$= \frac{\partial f}{\partial y} \cdot \frac{d}{dx}(y)$$

$$= \frac{\partial f}{\partial y} \cdot \frac{dy}{dx}$$

Summary: If $\frac{\partial f}{\partial x} = M(x,y)$ and $\frac{\partial f}{\partial y} = N(x,y)$, then the family of Curves f(x,y)=c where c is any constant will give implicit solutions to $M(x,y) + N(x,y) \cdot y' = 0$

